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A. Active Directory Logging

B. Login history under user accounts
C. Audit log

D. BCM Status Monitor

Answer: B

QUESTION: 56
What statement is true about the FindMe/FollowM e feature of BCM?

A. It is a base feature of BCM with Release 5.0 and does not require any additional
authorization codes

B. Any type of trunk can be used for the outgoing calls (Analog, Digital or Vol P)

C. The BCM450 supports up to 32 simultaneous FMFM calls

D. FMFM isonly supported on I P Sets

Answer: C

QUESTION: 57
What is the main reason why Business Communications Manager (BCM) provides
Session Initiation Protocol (SIP) trunk authentication?

A. Asareplacement for RADIUS as an authentication method for the BCM system
B. For Session Management support

C. To provide user accounts

D. To enhance security for SIP communications

Answer: D

QUESTION: 58
Which statement is correct regarding VolP support on the Business Communications
Manager (BCM)?

A. Authorization codes are not required
B. The ADD, DEL, and Change soft keys are moved to the new sub-heading j®Main
unitj
C. The BCM450 supports a maximum of 32 seats
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D. The Vol P Gateway authorization code supports both SIP and H.323 trunking

Answer: D

QUESTION: 59
How does the Business Communications Manager (BCM) 450 expand the BCM
addressable market as compared to other BCM platforms?

A. It provides a scalable migration path for the Norstar MICS customer base

B. It provides access to traditional telephony, converged IP PBX, and multi-tenant
managed service markets

C. It provides expanded support for SIP Lines and trunks

D. It provides expanded capacity for as many as 450 | P telephones

Answer: A

QUESTION: 60
Which statement is true of LAN CTE (Computer Telephony Engine) for Business
Communications Manager (BCM)?

A. LAN CTE includes a built-in hotel/motel package

B. LAN CTE is part of the main load with no authorization code required

C. LAN CTE requires | P telephones in order to function

D. LAN CTE provides an interface between the PC, the telephone, and the BCM

Answer: D

QUESTION: 61

The requirements for a new installation include routing using an Ethernet WAN
interface, six analog trunks, and VolP capability Which Business Communications
Manager (BCM) 50 meets these requirements?

A. BCM50e
B. BCM50be

C. BCM50e with expansion unit
D. BCM50a with expansion unit

Answer: C
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QUESTION: 62
InTouch provides features that simplify the use of computer-telephony integration on
your desktop Which statement is true of InTouch?

A. It provides full integration with Microsoft and Lotus

B. It provides a unified presence from. BCM telephony, Outlook calendar, Skype
presence, and MSN presence

C. It allows sending SM S messages

D. It requires the use of |P telephones or soft-clients

Answer: B
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